14 FEEREDH = F & (EEH)

(EREAE)

Rl

_
(€73% 73T)) INZE 48,100
g OB AL IE (B m)
Q o
(RRFZIELR)
R 57,900 | O Q [EF_ 52400]
QO[RE_ 20300] >
OJERBMAE 64000
(\BE#) Q
EEREIET] o s
Q
Q (FEEH) @)
O EHEH 89,900
(B IE#R) O
5
O (EREBER) O[gAIFfAE 147,000
ﬁ " (RRFIFLR)
Q [ExE _1s2s0) L [KE 289700 Qs 137500 |
3 (BEmEE)
Q FUERILE)
(R #%3E) R FIO__191,000 & (R B

(JEER)

Q
(GRBAER)

Q.
SCHE 197,000 FE AR

(KIE

[Br% 172,000 | [FFE 127,300 |

Eizp]|]=

Q 271,000
[KER 44800 O
(RK (KEEEPHR
(\E#) BLEH
(eIl 119,000 |O O O
Q (BREER
O
[#7FR 165,000 |
(TR
M(E‘t,ﬂl S 18) [INFEFE_ 152500 |

112,500

\ )\F‘i'rﬁ

260,500

bejbx)

325,000
J\i#] 155,000

K ERH5800m~1,2kmD EEEE IS
AEEHOELEMDEIHEREZETLI-
LDTHD, EL REMDESE X, &
ERCEICEL D=8, COHEFL>THE
ML T A EEREETH S,

L6, TBRTH->TH. FHICASIE
AT S IXEREL TLVELY,




